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gbobooggbogoboogobooobogoboobobboboogboboonon
gbboodbbogoodbboobobooobboobbuoobbooooanbn
gobbobbouggoogbobobbodoooobbobooooooboboobo
gbobuodgbbodgbbogbooobuoobbuoobbodboooboonbn
gbooboogoboboogd

gbbogdgbooobbuodobboobbuooboboobboobbooboo
O0000000000000000000000000000 (rest frame) 00O
gobbbbbuooooobbbbbbouoooobbb o buoooooobbb
0000000 (moving frame) 000 0000000000000 0OOOOOO
gbobobodo

O00000bo0b0obOobUdl LorentzDUODUODOOOOOOOO Lorentz [
gbboodgbbooobdoodbbuodabbobbooobbodobbabaobn
gbobogobogobuogobuoougbboobbooboobooboboonon
gbboboodgobood

1.1 00O

0000000000000000000000000000000000000
000000000000000000000000000 (R—-0)000000
00000000000000000000000000000000000000
00000R-00000000 R(t,2,y,2) 0000000

00000000000000 »000000000000000 (S—0) O
S(t,«,y/,”) 0000000000000000000000000000000
0000000000000000
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1.1.1 Galilei DOOOOO

000000000 Galilei 00000000000 OOOOOOOO (ODOO)
gbobbobbougodd «bbtbugooobbbbbodoud «2—0bbo
gobuodgobouogobogboogbboobbuoobbuoobbuoobboonoon
gbogudgbodgbbdod cugbbdoboobobuogbboobboooooon
gboboboooobboboooon

r=12+vt', y=v, z2z=2, t=t (1.1)

OO0 Galilei DOODOO0DO0OOOOOOOODOODOODOODOODODODODOD
Ooo0oo0 (R-0)000 mO0O0OO0O0O0DOOOOOODOOOOOOOOOOOOO
gbobobooodbobb 0000

mi = —kx (1.2)

0000000000000 A0000DOO0OODOODODOO (S-0)00oooOoO
OO000b00DGalileiDO0O0O0O0O0OOOOOOOOODOO

ma! = —ka' (1.3)

ooo0oo0O0 2 0000000000000 00000DODOCOOOOOOo
DDDDDDDDDDDDw:\/gDDD

z =2 sinwt, (1.4)
w

v = L sinwt’ (1.5)
w
000000000000 (t=00 z=0,2=v) 0000000000000O0O
gogtooubbbbddogobbbbbooddooooobbobobooooa
guoddouooooobobbbboooooouoouooooon
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1.2 0000000

S-0000 +v0000000000000 LorentzO0OOOOOOOOOOOO
O00O0O0O0OR-00000 Rty 2) 00000S-00000 SE,,y,2) O
0000000000000 0000000000000000000000000
00000000 00000000000 Lorentz 000

x =2 +vt), t:”y(t’+;}—2x’> o oy=y, z=2 (1.6)

gboooogg ~ 0O

! (1.7)

)
Il

2
v
I-=

O0oboobooobobobod Maxwell OO0 S—-000 R-0O000000O00O
OooooooooboobobobobobobobobobobUbLorentz O
b0 0000000000000

r~ao +ot', t~t, y=vy, 2=72 (1.8)

OO00D0GalileiDO0O0DO00OO0O0ODOODOOO

1.2.1 Minkowski [0 [

OO0O0000000 Minkowski O0DOODOOOODOODOOOOOODODOO
Minkowski 0 Lorentz 0 0000000000000 0DOO0DDOO0O (ds)®> 0O

(ds)* = (cdt)* — (dx)* — (dy)* — (d2)* (1.9)
J0dddoooooboboboddd Lorentz O[O
x =2 +vt), t:”y(t’+c%x’>, y=1vy, z2=2 (1.10)
O00D0000000DO0000O0D0OMinkowski OODOOOOOOOOO0O
(ds)? = (cdt)® — (dz)? — (dy)* — (d2)* = ¢"dx,dx, (1.11)

gbooogao
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0000dz*, do, O
dzt = (cdt,dx, dy,dz), dx, = (cdt, —dx, —dy, —dz) (1.12)

goobooogoboboooooon g d

1 0 0 0
gv_| 0L 0 0
00 -1 0
00 0 -1

gbogbbodgobbodgboobbobodbooooboob g»boonn
00 (metric tensor) 0000000000000 O0O00O0OO g 000000
gbbobooogbobobuoooobn

00 (ds)?0 Lorentz 0000000000000 ODOOOOOOOOOOOOOO
gdddodgoooououooobbogooauooobboooobboobbn
gbooboodgbbodgbbodgbbobuooobooobooobooooboonon
Lorentz 0 0000000000000 0DO0DOOOODOODOODOOOO (ds)?> O
gboboboooobbobuooooboboa,gbbboooobobobuooon

gobobbd g dooobbbbbbbbbbbotbouodgoooooogoan
00000 g 0000000 (00)0000000ooooooooooooo
gbbbooooboobbbuooaobbooadan

1.2.2 0O0O0O0O0OOO

O0000D000bobOd Einstein DO0O00O00OO0OOOO0O g O0O00O0OO
gbbogubooogbboodgbboduobbuoobbuoobbuoobboonn
googbooobobuodgbog g dbogbboouobobogboogbooon
O Lorentz U0 U0D0O0O0O0OO0O0OD0OOO0OODOODOODODOODOO g 0OD0OO
000000000000000 (ds)? 000000000000000000O0O0
000000 (ds)? 00 (3.2)00000000000000O000O0O0OO0O g™
000000000 (ds)? 000000000000 D000D0O0O0DO0O0OOO0OO
gbbbuoogobbbuoooobbbooodaoboo

OO0 Einstein 000000000000 O0OOODOOOOOOODOODOO
gbboobduguboggbooobboobboobbuoobbuoobboobn
gbobobooogbbbogooboboooon
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1.2.3 0O0O0O0OO0OO0OO0OO0O0O0

googobuogbbdugbbodgbooobbooobobuodobbuooboon
gbbodbbodgbbbobobooboobboobboobbuoobboabn
0000000 POOOO r=(2,y,2) 0000000000 POOOOOO a
oobooboooooooo,o PO

r=r+a (1.13)

O0O00b000b0o0obuodbd Lagrangian DO DO O0OD0DO0OOO0ODOO0OOO
gboooobooog

SL=L(r+a,7)— L(r,7) =0 (1.14)

goobooodb eddobnoood
oL

L= — .a= 1.1
o @ 0 (1.15)
0000000 Lagrangian 00O OO

d (0L

—|=]=0 1.16

dt <87’“> (1.16)

gobob odd (%)DDDDDDDDDDDDDDDDDDDDDDDDDDD

gbobobouoogon

e IO DODOMO

0000000000000 0 POUOODOUODOODOODOODOOOOOOOOO
O P (t,z,y,2) DO0ODOO0O0OOOO P (¢,2,y,2) 00000000000
Lorentz OO

z =y(a +ot'), t:fy(t’—kgx’) ., y=y, z=2 (1.17)

goobogd
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1.24 0O0O0O0OO0OOOOOOOOO

ohoooooooboo vioboo v, buooboooDbOd LorentzO OOD

z = y(z' +vt'), tzy(lf’—i—%x’)

0000000000000 oooog vi=w, v=V0O00O

dr  dx' +vdt Vi+wo Vi+V,
dr _ _ ot (1.18)
E ot hde 14 14 b

c2

v

ooboooboboboboooooooooo v, Wwooob c0bobobobn
obobobobbobooooog v=vi+V, ooooood
Ooodo vyoobh cOO000O0O0OOO0OOOO

V.
Vo= 161122 —c (1.19)

c2

gbobobooogobobod

1.2.5 00000 Lorentz [ [
oooooooooooo (E,p)D Lorentz OO 0O OO

vE
px’==v’(px—-7;r) , E'=~(E-uwp), p/=py, D =0 (1.20)

O0000000000E?-p22 000000 E?-p?l=E—p2? 0000
00000000000000000000000000000000000000
00000000000 0000000

E? —p?? = E? — p*c® = (mc?)? (1.21)

gbobobooogbbbuoooub pbbbuoooobbbuoogobn

2
E = +/(mc?)? + p3c? :mc2+§—m+--- (1.22)

gbbobbboooobbbuoooobbboooobbodan
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1.2.6 UO0O0O0O 00000

gboboggbogoboogobuoobobooobuooboooboboooboon
ooboobobooooooog pdboobob mOOoOooOooO VAo

2
V= % (1.23)

goooboooobbobod pdd mUdoboboooobon

2
Dc p
V="—0n=— 1.24
FE m ( )
O0d0oooooooooooogoooon
00000000000 Lorentz O0O0OO
vE

O0o00o0odoooooooooooooooooooooon (pIEc2)DDD
00000000 VOO (1.25)00
pzlc2 7( x+vc_§) 02

E 4 (E+vpy) (1.26)

%

gboooobobobobooboobo pO0bOO0ODLO0

pacc2
+v

gbobobooodgobobod ‘/i:sz,CQ,‘/Q:UDDDDDDDDD(1.27)':'

V4
1+ Y32

(1.28)

gbboobboobouogdgbboboooobbod
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1.3 0O00ooooogon

ooooobobobobobobobobobooooooboobobobon
OO000D000000000O0NewtonO O OO Maxwell 0 000 Galilei O O
OLorentzU 0000 DO0OOO0OO0OOODOOOODOODOOODOOOODODO

e Newton 00 00 Galilei OO
GalileiDOOQOOOOOOO
r=1+ot', t=t (1.29)

O0000000 NewtonOOUODOOOOOOODO

d*x oU d*a’ oU
er_ 92 e _ % 1.
m dt? ox - mn dt'? ox’ (1.30)

O0O0OONewton 0000 Galilei OO0 ODODOO0OOOOOOOOOOOO
e Newton [J [ J 0 Lorentz [ []
LorentzO O OO OO
v = (2’ +ot), t:7<t’+%x’> (1.31)
doooooooooooooooooao

dx dx' 4+ vdt ‘fl—f,/ + v

— = = ; 1.32
dtdt' + Gdr' 14 %% (1.52)
oobodobodod
dl‘, d2x’
d2.l’ o 1 d ( ar + v ) . dt'2 7& dQZL" (1 33)
2 I N ol vde | o\ 3 2 :
dt y(dt' + Zdx') \ 1+ 59 5 <1 N 1,32> dt'

O00ONewtonOOOOOOOOOODOOOOOO0OOOO, Newtonld O Lorentz
OOo0O0DoDoO0ooooooon
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e Maxwell 0 00O Galilei D [

OOOob00d0OMaxwellUODOOODO EOOOO

1 02
(0—2@ — V2) E=0 (1.34)

OO0O00000GalileiDOOOnO

0 0 0 0 0

1/0 A R

O0O000OMaxwell OO0 GalileiDDOODOODODOODOOODOOOOODOO

goobooo

e Maxwell [0 [0 0O 0 Lorentz [ [J
LorentzO OO O QOQOO
1, 1,

2 Ot2 2P

OO0O0O00OMaxwellOOOO LorentzO OO0 OO0 OQOQoQoQoQonQ

(1.37)
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1.4 0O000O0O0OO0O0OOOOOO

OO000000ooooOOoo00oooDoboD ArO0O0O0OOODDOD AtO
O00000O0O0O000DOoObO0obODOOO000DbDOO00oDoOOoOoooDD AtO
obobboboobooboobooboobb

1.41 O0OO0O0O0OO0OOOOOOOOOOOO

00 o 0000000000000O0O (DO0oOooOoO0)0o0O0O000oooo
Ooo0ooooboooooooooboOobooOoboobooD ¢vODOODOODOO
gbogdbogbbogbboobobboobbuoobboooboboobboonn
gbobooboobooboboboboboboboobobobobboobobobog
0000 (2A7) DO00O0OO0O0O0OO0OO0OO0O0OOO0OOOO

¢ =cAr (1.38)

gbbogbogggboogboogboooboooboobobuoobboonn
O000000000000000000000000000000000 (2At) O
goooobo

V (cAt)? — (cAT)?2 = vAt (1.39)

U2
AT =4[1- 5 At (1.40)

gbbogbbbuooogbbbuoooobbbuoooobbodao

oboooboboobon

1.4.2 0O0O0O0O0OOO0OO0OO0OOOOOOOO0

doooooooooooooooooooooooooooooooooooaa
0000000 (—v) D000000000 Lorentz 00000000
v
' =y(x — vt), t'z*y(t—gx), v =y, =z (1.41)

000000000 (—v) OO0O0OOOOOOU00OO0DOODODODOOOOOOOOO
gboboodboogbobobbuogbbuooboboooooboobuoobboonon
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gbbobooogbbbuoooobbboooon

U2
At=\/1- 5 A7 (1.42)

000000000000 (1.40)0 0O (1.42) 000000000000 AtO At
goboboooobbbuogooboboooobobobuoooobboboo

1.4.3 O0O0OO0OOOOOOOOO

0000000000 +000000000 «=vt 0000000000000
OOoooboboboboo+ogoob0boboun, Lorentz DO OO

' =~y(x + vt) = yut (1.43)

0000000000 vAt = ywAt, cAt = ~ycAt 0000000000000
000 (1.40) O

: 1
Ar=y1-5 x ——— At = At
c [1_ w2

gboboobobuoooobbooogbobobooon

1.4.4 0O0OOOOUO

gbogobuogbboobdobbooboobboobboobbodobood
gboobodbbogbobobodgbboobooboboobuoobobooboonon
gbbobooogbbbuoooobbboooon

000000000000 A7r000000000 A¢(D00O0O0)0000OO
OOo0000b00oo0oDbDOo0o0o0ooO0ooboO0oD ArObDOoO0OOODOODO
rOoo0bodboooobobooboooooboobobooo rooboooobon
O000000000 Lorentz UDUODOODOO Lorentz UDOOODOOOODOO
0000000000 Ar0O00D0D0 AtODO0ODOOO0ODOOODOOO

oboobobobobbobobob roogboobuooboobooboon
gbooboboooboboboobobuoboobob oL robooooboobog
OoO0o0o0o0OOo0o0oo00 A¢toobooOoooooooboooo
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1.5 O000o0ooonon

ooobobobobooooboboboboobobobobobooobn
googbdobobobooooobobobooooobobobobobobobog
gbooobooobo

1.5.1 OOO0OOOoogd

D000 0000000000000 000D00000 Lorentz OO ODOODO
gbboobugoooobuodbbodbbuoobbuoobbooobooobobn
gbobogobuogoobuoguobbogboobbuodb pdbboobooon
Oooooogg po

p’:v( _UC_;E):< v) \/1:7-_ \/7 (1.44)

gboogbbbuogoobboogobboboooooon

1+
1—

Qle

N=A

(1.45)

ol

0000000000000 0000000000 (red shift) 000000000
gbbbuoooobbbobbboodgbbboooobbbdan
000000000 (infra-red) D0 000 (ultra-violet) 0000000000
gbbogobdgbooobooobuoobobuoobboobobobuoobboonn
gbobogdboo,gobbuoodboogbbobooobbuooobbooobn
gbbboooobbboodobbobbboooobbban
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1.5.2 000000 DO0O0O0OO0OO0OOO0OOOo

00000000000 ((@O000o0oO0)0000o0o0o0o0oooooo0oo
000000000000000000 0 no~2x10°0000000000
oboooobood oo oo

O000000000000000 I'D Lerentz OO DOO0O0OODOOOOODOOO
OO0 Lorentz U0 ODO0OO0OOODOOODOO

e 0D OODUODLO L. D[DOOO0ODOODOODLOOODOODODOOD
000 L O Lorentz D000 z=~(x'+0vt')=~vt’ 00O

L = ~vry (1.47)

0000000000000 1GeV/c>000000000000DO00O000O v~c
obooodb y~106 0000000000000 O0ODO0ODOO LO

L=~v7g=10.6 x 3 x 10* x 2 x 107% ~ 6.3 km (1.48)

gboogbooobugobouobobuooobooobooobboobboonn
obobbooboobooboon

1.5.3 O00OO0oboboooboobood

gboogobuogbobobuogbbuoobbooboobbuoobbuooboon
000000000 (1.47)00000000000000000O0O0OO0O0O0O0
gobobodg



20

20 0Ooooddtdd

gboboodgbbodgbboobbboooobboobbuoobbuoobboonon
gbbodbooogbobbooobooobboobbuoobbobboobn
gbooboodbbogbbuobuoboobbuoobbuogbobooooobboonon
gbbboooobbbodoodobo

21 0O0O0OO

Newton O UOODOOOODODOOOOOOODODOOO0ODOOOODOOOOLDDO
gobogobogobobbodbbogboboobooboooboooboonon
gbobogobbuogbobooobbuooobbood ¢, 00 z,y,z2 0000000
O0000o0obobooobbo0oboubobouobb LorentzO OO O OOOOO
goog

gboboodbobooobboobbuoobbuooboobbuoobbuoobboobo
gbogobogobuoooobbuobbuoobboobbooboboboonon
goobobdobogobogobogobooobooobbooobboobboon
O00«x(¢t) OOOOOOO0OO0OOO0OO0000 ¥(r,t) 00000000000O00O0OO
gboboboooobbboooobbboooobobooaod

gbooogobbuogdgbbb « 000000bbuodb 00000000
gobbobboogooobbbioddd « oo bbbboooooboo
U000 NewtonODOUOODOOoooooo
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22 OJ0O00O0O0OO0OOO

OO0 NewtonOUODOOUOOOOOOODDOOOODOOODOOODOOOOOOOODO
gboobooboboboooboboobobobooboobobooboobog
gboobobboboboboobooboboboboboobobobobobg
oboogboboboooboboboboooboboboboobobobonboog
obobooobo 000000000000 000

l+2)*=14azx+--- (2.1)

gbouodbogboboobobbobbooobogboobooboobboooabo
OO0000 NewtonODOOOOOOOOOOODOODODODODODODODO
gbooooo

23 O0OO0OOO0

gbobogobogoboobooboooboooboooboooboooon
HRN

_dr
Cdt

gboogbogboobooboobbtbobbobbobbobboboobn
OO0 LorentzUOODDOOO0OOOOOODODOOO ¢t0OO00O o+ 00D0DbO0O0ODODO
gbbobuoooobbbuooobbboooon

v (2.2)

2
pC
_pc 2.3
"TF (2.3)
0000000000000 E~m 000
p
~ = 2.4
v m ( )

gbbobgoboobboobuobbuoobobooobooobboobboobn
gbobggbogobuogooobooooobooobooobuooooboonon
gbbbouoogobbbuoogobbbuoooobbobbuoooobobodao
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231 0000O0O0O0OO0OOO

gboggbogobogobboooboooboboooboooooboon
gbboggbogobuoooboobobuobuooboboobboobobboonn
goo

v = % / O () p () @ (2.5)

gboobobobobobooooboboboboboboooboboboobg
p0 p=—hV OOOOODOOOOOODOODO

2.3.2 LorentzOOOOOOOO o

Oo0oO0OoO0ooo0O0o0O000b0b00bbbo000b0b0UUUUUUUUULorentz
gboogbobodgobudbb o« 0budbbougbboobonobooon
gbogbbuodobboouooboooodobboobboobbuoobboobn
gboboboooobbbooobbbooogon

2.4 Lorentz Contraction

OoooooooboooooobooooooobooooooooobooooooDo
000000000000000000 Lorentz Contraction (Lorentz 00 ) O
Oo0obOooobOoooooboooboboo ¢OOO0ODOODOODOODOODOO
OoooooooooooobooooooobooboooooooooboooOooooDooonoo
OoobooooboOooooobobooooboboOoooboooboboooobbOooon

000000000000 LerentzOOODOOOODOOOO0OOO0ODOOOOOOO
O0000000000000000 LorentzO0O0O00OD0ODOOOOOOOOO0OOO
O0O0OLorentzO00 00000000 DOOODOOOOOOODOOOOOOOOODO
O000D00O0O000000D00DOLorentz ContractionODODODOOOO0OOO
Oooooooooono
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gbooggbuobogobbuoobbuooboobboobbooboooboon
gboboggbboggbogboooboooboobobbuoonobuoonoboonon
OOoobo0obooboboobobooboboooobooobOobOon DiracODOO0O0OO
Oboo0oobobooobooooboobobd DiracOOdoobooobooonDO
gubogboodgbbuogbobobbuoobbobbuoobobooobboabn
Obooooboobobooobbooobboooboobno DiracbOoooOg
gboooogn

25 Uobooobooobood

gboogobuogbboobbodgbooobobuoobboobbooboon
gobobobboooooooboobobbdooooooooobboooooooobobooobo
00000000000000000(@UO000 1GeVOO)O‘HeOOOODO
oboboooboobobooboboooboooobobobooboobUobDMax-
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0 (ds)? 000 Lorentz 00 0000000000000 O0O0O0OOODOODOOOO
gobogbbuogobbuogobbuooobbuoogbuodgbbg booonn
gbboogbogobobooobuooobooboboobboobobboonbn
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3.1 UOootn

gbooggbobboogbboooboooboooboooboooooboon
goobobogbooobboobboobbooobooobuooboobuoonoon
gboboggbboggboobbuodb40bb00bboobbuoobbbboonn
goobbogobobogobogoboooboobuoobobuooboboonoon
Oboboobobooobuobboboobdl Loerentz UDOODOODODOODOO
gbobgobogoboooboooboooooboboooboonoboonoon
gboboboooobbbuooobbbuooobobbboooubo

3.1.1 Lorentz [

000 R(t,z,y,z) OOOOOO0O0OOODOODOOODOOOOOO v0O 20000
O000000ooooo (S—=0) Si,2,y,7) 00ooooooooooogg
OO000D00b000000000 Lorentz DODOOOOOOO

x=(z" +ot), tzv(t'—f-:—zx') ., oy=y, =z2=2 (3.1)
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3.1.2 Lorentz 0 OO

Lorentz 00 00000000000000000000000000000C
00000000000000000000000000000000000000
000000000000 (ds)?

(ds)* = (cdt)” — (dz)* — (dy)* — (dz)*

gboboooogg

3.1.3 Minkowski 0[O

00 (ds)*> O Minkowski O Lorentz 000000
(ds)* = (cdt)” — (dw)* — (dy)* — (dz)* (3.2)

000ddooooobobobooddoodd Lorentz 0
r=v("+ot"), t=~ (t' + %x') , y=vy, z=2 (3.3)

OO0O000000O000O00obO0oboboOobobOOMinkowski OO0O0OD0OOOOOO
HRN

(ds)? = (cdt)® — (dz)* — (dy)* — (d2)* = ¢"dzx,dx, (3.4)
oooooddoodds”, dr, O
dzt = (cdt,dx, dy,dz), dx, = (cdt, —dz, —dy, —dz) (3.5)

gbobobooodgbbboooobob g U

1 0 0 0
gv_| 0 -1 00
0 0 -1 0
00 0 -1

gbogbobogobbogboobbobodobooogoboon g»oooon
00 (metric tensor) 0000000000000 O0O00O0OO g 000000
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3.2 UOOOoOOn

(ds)* 0 Lorentz 000 0000000000000 0000O0OOOOOOO
O00000o00O00o0oo0o0o0ooD (34)000000000000000000
000000000000000000000 (ds)?00000000000000
obobbooboobooobooboobon

3.2.1 (ds)* 0000

00 (ds)? 00000000000000000000(ds)? 0000 Lorentz [
00000000000000000000000000000000000000
00000 (ds)? 000000000 Lorentz 0000000000000000
00000000000000000000000000000000000000
000000000000000000000000000000 Lorentz 000
00000000000000000000000000 (ds)?000000000
00000000000,00000000000000000000000000
000000000000000000000000

3.2.2 (ds)2000000000

0000000 (ds)* 000000000
(ds)* = g"dx,dx, (3.6)
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gboodbboodgbboobuodgbbuoouobbooobobbuoobboonon
gbobooouooobogbobogogoboooboobbuoobbuoobobooonoon
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3.3 Uooooon
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000000000000000 (ds)? 0000000000000000000O0
000000 (ds)? 00 (3.2) 0000000000000 DOOOOOOOOO g™
000000000 (ds)? 0000000000000000000000000O0
gboboboooobbbuooboboboooobbobuoooobboboao

OO0 Einstein 0000000000000 O0O0OO0O0OO0OOOOOOOOOOO
gboboobuoguboogbooobboobboobbuoobbuoobboonn
goboboooobbbooobooboooobbbuoooooboo
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OboobooobobooboobbuoobuodbbO0ONewton UODDOOOOO
OO0 Dirac DO0O0ODOOO0OODOODOODOODOODOODODODOODODODODOO
gbooodbbogugbbuogbobooobooobooobooobboonon
gbboodgbogobuoooboobboboobobobooboboobboonn
gboobuoooobbbooogbboboooobbbogoobobobod

gboogboodobbodobboobodobboobboobbbobobood
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gobbobobobbobobobobbobbobobbbbbbob (%)2~10_8DDDDDD
0000000000000000000000(@0D0)00 #x10'000000
O000000 Newton OO0 0O0O0OO0OOOO0ODOO 030000000000
gboobooooboboogd

gbogobooobooobbooboboooboobobobobooobood
gbobooggbogoboogobooobuoobbuoobooooboobooboonon
gbbboogbboboooobn

4.1 UOUOooooood

OO0O0DOO0000boooD Dirac UOODOODOODODOODOOODODOODO
gboboodbboobboobboobboobuoobobuoooobbooboonoon
gbbboooobboogad

Vi _GmM 1 (

r 2mc?

GmM )2 (4.1)

r
godgbbobiobbibododooooououooobooooooooboobn
Zeeman U000 0O00O00OO00OO0OOOOOOOOOOOOOOOOOOOOO

gbobogobogobuogoobobuoobbuoobogboooboooboonon
OobooboobooooboooobooobobobooouobOod Zeeman 0O O
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gboboobodgbbugbobobbuabooobbuoobbuoobooobogn
goboboogobbobuoogobbbooooobboooooon

4.1.1 0O000OO0O0OO0OOO0OO

0((4.1)000000000000000000000000000000OO0O00
gobodboooboboboobbooobooobbuooboobuoobooooon
gboboodbuodgbbodbboobbuoobbuoobbuoobuoooogboon
gobogoboboooboobboobooobooboboobbooboonoon
gbobbuoooobbbuodobobbooogbbobuoooobbooan

goooboooon Vc(r):%DDDDDDDDDDDDDDDDDDDDD
00000000000000000000000000000000000 (4.1)
gboboboooobbbdooobobbbooooobobooon

A (4.2)

1+ ecos <%<p>

r =

OO00000000000 KeplerUOODOOOOOOOODOOODOOODOOODOO
O00000000000000000000000000000000 A, 0 Ly
gobooo

L2
A, = GMgm2 (4.3)
G2 M2m2 1
L, = \/€2+Tmzé 1—|—772€<1—|—§77) (4.4)
O00O00oooooo,n0o
G2M2
1= o (4.5)
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4.1.2 0O0000O000OOOOO0OO0O0OOO
0000000 (42)00000000000000O0O00OO0O0OO

1

L
Ccos (ngo) ~ cos(p + Encp) (4.6)

guddoboooooooooobobobobbon
r=rcosp, y=rsing (4.7)

0000000000000 cos(p+ ing) OO
1 1 1
cos(p + 577@) = écos (577@) - %sin (57790) (4.8)

gbboodbboodbboouobbuoobbuoobbuoobbbooobboonn
gooboooobobobooooboboooon

4.1.3 0OO0O0OO0OOOO
0000000000000 000000oooooon (4.2)

r= Ay
B 1—|—5cos(1—|—%17)<p

gbooboooobboboud »r0 =00 p=270000000000000O0
gbboboooobboboooobo

Ay

= =0 4.9

g 1+¢’ 4 (4.9)
Ag

" 1+ecosmn’ L (4.10)

0000000000000 000O000O0b00O0O00O0 Argoonono
1
ATET(SO:QW)—T(SOZQ)2§A97T27’]2620.15 cm (4.11)

gbouodbboboogbbodobbuooboobobbooboobbooboobn
gboobooggn
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414 0O000O0O0O0OO0OODOOO
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gbobbuodgooooobbbbuodooooobobobobooooooboboobo
gbobgdgbbogdgbobogbbodbboobbuodbuoobobboboooon
gbogbobuodgbbudbbooboooboobbuoobdoboooboonn
gboboooobbbooogbbboooobbbooobobon

gboogbobubodgbbodgbobooboobboobboobboobood
gbooggbogobogoboooboouoooobobooooboognooboonon
gbobbobobobouooogobbbbbuooooobbbbuoooooobboobo
gboogobuogbbuodgbbogboooboobobuoobbooooboonon
gbboodgbogdgbboodgbbodobbobbooobobboobobboonbn
gboboodbbogoogbboobbuoobboooboboboobobboonon
gbbboooobbbooood

gboogobuogbbodgbbogbooobobuogbbuoobbooboon
gbboodgbbuogbbboooboobbuoobboooobooouooboabn
gboboboogobbobogoboboooobbbuoooobboooad



32 040 0OO0OO0OO0OOO0OOO

4.2 OJO0O0OO0OO0OOOOOOOOO

ooobobobobobooobobobobobobobooobobobob
obboboobobooboboobunb 0o nOoobobLbOobDO
oboboboboobooboboobooboobooboobooobon

dr T 9 [2mE n 2moa 1 1 (GmM\?
e = — =T _—
dy %) (2 Cro r2 2¢2 r

2mFE 2 1
= 22 /1% n ma 2 (4.12)
2(1+n)  2A+nr r?
oooooooo
— dr
I + ndgo - 2 2mE 2mao 1 <413)
r \/ﬁ(un) T ey 2

gbbboooobbbooood

GmM\?
n= (—e2c2 ) (4.14)
0
n~107° (4.15)

gobbbbbbotuodoooooobbbobobbbud poooooobbbbo
gbooooo

V1+nde ~dp (4.16)

gbboggbogobogoogoboboooboooboobobuoobboonon
gbobogdbboogbbbobodgbbooobbbooobobooboobon
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4.2.1 0O0000O00O000OO

gbogbbobuooggbbobuoooobobobobuoooobo

dr 9 2mE 2mao 1
— = — = 4.17
dp r\/52(1+77)+f2(1+77)7“ 2 (4.17)
oooobooooobooboobuoobobobooboooboobooo
A
r=—21" (4.18)
1+ecosp
ooooooooono A, 0
62
A, = ———(1 4.19
9= anpmz (4.19)

goboboboboodgdud eddooooobboobobbbodooooooobooon
gbogbbuogobooobobbuobbuooboodgbboobbobboonn
0000000 A4, 000000000000000000

000000 (4.18) 0000000000000 OD0OOOO0OOOOOOOOO
gobodboobooobboobbobbuoobobooboooboooboooon
gbobbuoooobbbuooobboboooooboo

4.2.2 O00O0O0OO0OOO

0000000000000 000000000000 (418) 000 @000

q0 — A
1+ecosp
0000000000« (r=r@+4) 0000 +/ 00000000
dr’ 1 2mE 2mao 1
ar 1)y — 4.20
ap 2 )\/62(1+77)+€2(1+77)r(0) (r©)2 (420)

O00000000000000D0 000000000 Y 0ODOO0000D0O0OODOO
0000 e0000D0D0OO0O00ODOOOOO0OO0OODOOOOOO ~/O0D00 e00O0O
Oo00o0oooooooo O

'~ ConeA, (4.21)

000000000000 C, 0000000000000 00e 0 (e~0.0167) O
gboboboooobbbooggbboboooobbbuoobbobooooboon
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4.3 O0OO0OOOOOOO

OO00O000oobO0o0obo0oboooobbo0obobonod Newton JOOOOODO
gboboogboogbooboboobobooobobbdabuoobobuooboboonon
gbobobgooobobbobooobobobuoobobobboobobobog
gboboboooobbbuogobobobboooobbbuoooobbob

4.3.1 O0O0O0O0OOOOOOOLOOOOOOOn

obobobooboobooboobooboobobbobo To

wT ~27{1 + 2n} (4.22)
goodooo nd
G*M?
= 2Rpi2 (4.23)

oboboobobboobo0o0 ROODODOUOODO0OwUODOOD Newton U0 T O

2
W= —
T
0000000000 oO0ooooo0ooooobooobooboooooooogo
OO0,00000 AT O

AT _

9 4.94
T n (4.24)

000 [4,5|000000 (4.24) 00000000 TO Newton OO0OOOOO
gboooobDbobbbo0obOo0lb Newton U OOOOOOOOOOOOO
gbobobooggbbobuoooobobood

000000000000000 ~10*00000000000000000O0
gobbobbbougoogobobbodoooobobbuoooooobooobo
gbgbobobogbodgbugbobbobooboobuoobuoobobobobo
gbobobogoobobbogobooboboooobobuooobboooan
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4.3.2 0O000O0O0OO0OOOOOOOOO

D00000000000 ROODDODOO MOOODOOOOD wODODOOO
R=1496x 10" m, M =1.989 x 10* kg, w=1.991x10"" (4.25)

gboboboooobbooooboboo

AT »

gbduououououououououo
AT’Orbital Motion = 0.621 S/yeal" (426)

gobodbogoboooooobooobboobuooooobobboonoon
gbobooggbogoboooboooboboooooboooboobobooonon
goboboooobbbooobboboooobobbuoooobbboooon

ATt Motion == 0.625 £0.013 s /year (4.27)

00000000 426)00000000000000O0

4.3.3 O0OO0OOOOO

OO000b00b0ob00oo0ogooogbd Newcomb OODOOOOOOOOODO
000000000000 00000D0O000O0000O0ooooooOoO [8)o0
OO0 NewtonianO OO ODUODOODOOOOOOOOOOOODOOOODODOOODOO
gbooboogobbbooogbbobooooboo
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gbobogobogobuogobuoobbuoobbuobooooboooboooonon
gbbooobogobuooboboobbuabobooobooboboobboonn
O00bo0oodbobooobbOobd Newcomb 0 1898 00 0O0O0OOOOOO
OO000000b0bbObOONewcomb D0 OOOOOOOOOOOOOODOO
gbobogobuogbbudgogbogoooobbuogbbodbooobooon
gbboogbobooobooobuooobuooboboobboobobboonbn
gooboogoon
gboboggbobbodbooobobooobbooobboobooobood
gbooodgbodgbobbogboobobobboobboobbuoobboonon
gbbogobogobuooboboobbooobooobooboboobboonn
gbobooggbogboogbogbogbooobooobooobooboboonon
gbboobogobootoboobbuoobboobboobbooboodgbodan
gboobbodgboogobogobogobooobooobobooboboobonon
gbbboooobbbuoooobbboooobboooood

5.1 UUOUOUOOOOOOOOOOO

OO000bD0b0obo0oo0oobooboob0obOobOond Lagrangian

1 ., GmM 1 .y GmyM  Gmm,,
L=—-mr*+ + =My Ty + +
2 r 2 Tw |r — 7y

(5.1)

00000000oooooooog (m, r) 0 (my, r,) 00000000000
O0000oo0o0o00o0o (s.1)00000O0ODOO0O00OOOOO0OOOODOOO
gbobobboobooboboobobobuobobobobboobobobd
gboboboooobobooooobon
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5.1.1 0O0O0O0OO0O0O0O0O0O0

gboboggbogobogobooobooooboooobobooboooboon
OO0o0O00ooooooboooobooobodbdbOl Lagrangian DO O0OO0O0O
goboboodd

1 . GmM 1 : ; Gm, M
L = —m(r2 + r2902) + —+ —mw(Tw2 + TZSDwQ) +
2 r 2 "
Gmmw
R (5.2)
V12412 = 2rry, cos(p — o)
goooooooooooboboobooooooooooooonon
mi = g - CmM__Cmmylr —rycoslp —pa)) g
r (r2 412 — 2rry, cos(p — pu))?2
d GmM w ' _rw
—(mr*¢) = — My, sinte = gu) 3 o4
di (r2 412 — 2rry, cos(p — pw))?
G wM G w\Tw ™ _rw
MyTy = mwTwaQ - m2 o - <T TCOS(SO ; ))§ (55>
r2 (r2 + Tgu — 217y COS(SO - S%))z
d G wM w ‘ w
—(muri¢) = — T M7 Si0(w — ) 3 >0
o (r2 412 — 2rry, cos(p — pu))?2
ogoond

5.1.2 0OO0OOOO

ODoo00oboobobooboboobbioobbOd Kepler DOOOOOOO
gboobooggn

GmM
mit = mrg? — = (5.7)
r
L mr2g) = (5.8)
5y (mr79) = :
00000000000000
A
. (5.9)
1+ecosp
00000000 AOD 0
Iz 2B
A=—, e=4\/l+=—— 00 (a=GMm) (5.10)
mo mao

gboboboogoobobuoooobbobodao
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5.2 OUOOOOOOOONO

O0o000o00o0oooooooooooooooooooooboooboooon
ogogoogoooogg
2 GM Gy (r — 1y cos(o — o))

. on 5.11
m2r3 r? (r2 412 — 2rry, cos(p — ‘Pw))% o

gogooooooooooooooo -, r, 00dd R, R, OO0O0OOOO0O
doooooooooooooo
? GM Gmy(R — Ry cos(o — pu))

. B B 5.12
m?rd 1% (R4 R2 — 2RR, cos(¢ — o))} o

000000000 (5.12) 000000000000

5.2.1 Legendre [
0000000 (5.12) 0 FOOO

Gmy(R — Ryx)
(R? + R2 — 2RR,z))?’

F(z)=— 00, z=-cos(y— ) (5.13)

gbobuooobouaogooon

GmyR Gmy Ry, (R2 — 2R?
Flo)= —— "t 70 fy - Vot (5.14)
(R?+ R2)2 (R*+ R2)>

O Legendre U0 U0 DO0O0OOOOODOODOODO

.2 GM  GmyRu(R? 2R
7= o + o R%U)% cos(p — @) (5.15)

gbobboogoobbobuoooobboooooooo
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5.2.2 00000

00000 (5.15)0000000000000000O0CCOO000OO0O Kepler
ooooooo

o = O 1wt (5.16)

Vo = @O 4wt (5.17)

0000000000000 (5.15)0

.2 GM  GmyRu(R: —2R?)
F= s T + (Rt ) cos(b + (t) (5.18)

0000000 b, A0
b= -0, B=w-wy, (5.19)

goboboodgog

5.2.3 0O0OO

000 (5.18)00000O0O0ODOODODOODODODODODOODODODODOODOOODOOOO
b -ro0oggbbboooobbbodn

1 GmuRy(R2, — 212)

r=r0 4 5
(B2 + R2)2

cos(b + (t) (5.20)

000 »© 0 Kepler 0000000
A

T(O):1+—Ecos<,0 (5.21)
0000000000 (5.20)0 O (5.18) 00000000000 KO
1
K=-7% (5.22)
guoodouooooobobbbboooooo
r=r® _ G 2 (R, — 21) cos(b + (t) (5.23)

(R + R E
gogd
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5.3 UUHOUOOOOOOODOOODOO

000 Kepler 0000 O 00000000000
A wRw(R2 — 2R?
r o= _GmR(Rw5 R>cos(b+ﬁt)
1 +ecosp (R? + R2)3 3
A

1 G P (1, —2F2) b 3t
+ecosp + 1) E (o )? cos(b+ ft)

000o0000obDn0 A~~RODOODODOD f=w—-w, 000000 g, O
_ 2R?
Gm,  (1-%)
RR2 _w2 5
2 (w w)<1+%§>2
O0O0O000000g v+pt=9p—p, OOOO0OO rO
A

T_l—i-ecosc,o—l—ewcos(gp—gow)
gdooououououououououoouoouooood

12

(5.24)

(5.25)

Ew

(5.26)

5.3.1 0UUOO

oooboboboboboboooobooboboboboooobobon
O00000000000000 ecosp + ey cos(p — ) OO

£COS P + £y COS(P — ) = €1 €08 + ca8inp = 1/t + & cos(p + 0) (5.27)
00D 00ddddnd ¢ O e O

1 = €4 €y CoSPy (5.28)
o = Eysingy, (5.29)
O00OOcosd O
cosd = ——L (5.30)
000000000000 ¢, 0 e00000000O0O0O0OO (5.30)0
w w 1 w 2 .
cosd = T _ :1——(8—> sin? p,, (5.31)
V(e + €4 cos )2 + (64 Sin @y, )2 2\e

gbooboooon
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5.3.2 UUOUUOOLOUOOUDOOO
0000000000000 oooooooooooo-

1 27 ) 1

_ i w A0 = — 5.32

o ), S Pwdew =3 (5.32)
000000000 oUoouoouoouoouoougo 60O

Cw 1 GM 1 (mw) <1_ %)

VEe VIS T Rl P WMy’
R,
: -
- ﬁs}fzuwwi Wi )? <n]t/l[U) ( Rw) (5:33)
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54 O0OOOOONO

OO0 s00D0000DOO0O0O0DOO0ODOOOO0DOOOOO0ODODOO DOOOoOoboo
oboboooboooboooodg

g obogdgn

oo | oo |oo oo | oo | oo oo oo
0000 [ 0.387]0.723 | 1.524 | 5.203 | 9.55 | 1.0
o0 0.055 | 0.815 | 0.107 | 317.8 | 95.2 | 1.0 | 332946.0
o0 0.241 | 0.615 | 1.881 | 11.86 | 29.5 | 1.0
w 4.15 | 1.626 | 0.532 | 0.0843 | 0.0339 || 1.0

54.1 0O0OOO0OO 60O

OO000O000OO0O0DOO0O0DOO00DO0O0DO0O0 jOO0OOObObOOObOOOOn
0000 Newcomb DOODOOODOOOOO

OO0 000000 60

| 00 |oo |oo oo oo oo [oooo
5[0 (5.33)] [49.7]274]077 321|114 1111
§ [Newcomb] || 56.8 | 18.8 | 0.51 | 31.7 | 1.5 | 109.3

O000b0 000000000000 1111000000000Newcomb OO
gbbi109.3 00000000000 booboboooooobooo
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